BC-13

June — Examination 2023
B.Com. (Part III) Examination

Management Accounting
Paper : BC-13

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—A 2x7=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.

BC-13/8 (1) T—460 Turn Over

QUE—H
(3tfa &g ST u9)

frder .- |t Ul % IW AWTI M9 ST SW & TAGER

(i)

(iii)

(iv)

(v)

(vi)

TF I, Th O 1 Afeshan 30 sl § i
HITT | I&F I 2 37k HT ¥

What do you mean by the term ‘Leverage’ ?
‘IR STEEROT | ST T THE § 2

What is Balanced Capital Structure ?

gferd it S= T 2

Explain the meaning of Interim Report.

R\ gfqagd &1 19 sasu |

Give the rwo importances of Management
Accounting.

YU T@iE QR s )
Give five examples of Fixed Assets.
TRl e & ute e SIS |
Give formula for Current Ratio.
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(vii) Give any two uses of fund.
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Section-B 4x7=28 6. Explain the essentials of an effective Budgetary
(Short Answer Type Questions) control system.

Note — Answer an uestions. Each answer should not .
ore i y Jour questi JUERTE aSie JUlelt & SAEeaeh ol i GHest |

exceed 200 words. Each question carries 7 marks.
7. Examine the following information and find out

 us—a
(g I W) current ratio :
et - fFl 9@ wvl & S ST M e IW W freafafea gemmstt &1 St RIS q9n =g STHAE 9
sAfereram 200 vl # witEfifd wifSw) g weA i
7 3% a1 Bl
‘ Sales (Assumed to be all credit) : < 3,00,000
2. Give the objective of Management Accounting.
1 0,
R | Gross Profit Ratio 20%
3. What is meant by Capital Structure ? Explain the Quick Ratio 0.80
theories of capital structure in brief. Current liabilities % 40,000
ESURISRIR RIS R S R Closing Stock 345,000
g4 § 99=ET
Opening Stock % 35,000

4. Give various sources of working capital finance.

e R R Tt | Inventory Turnover Ratio 6 Times

5. Explain three types of cash flow as per AS-3 ? 8. Explain the policy of “Trading on Equity’.
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9. Following cash flow after tax but before s —d

depreciation are expected from A and B two & s 99e)
projects. Ascertain and route the project on the basis T - foredt 91 T B SR AR T ST SR Y S
of post-pay back profitability if each project cost . .
500 vl H ufEifd T Yo% T 14 3 T
T 80,000 :
. . 10. What do you mean by Report ? Explain the type
31 A & T GRS | Y w0 & A9 TG o ] Y y e P P
¥ 7d g YA 74 YHR ¥ [EdTaE ety & ar of report.
F TERFET T F U GRESEE w1 e gfieeT ¥ M F GHE § 7 Fideed b YRR
FH UM FIST IG F&® IRASH &1 ara T 80,000 THEATST |
L 11. Difference  between Financial Accounting,
Cash Flow Management Accounting and Cost Accounting.
Year Project ‘A’ Project ‘B’ foxita TiEer, Yol Tieleh o od of@ishd H 3T
I 20,000 25,000 HHART
I 20,000 25,000 12. Following are the Flexible Budget Equations :
111 20,000 30,000 frfafea aHtwton aeie aeie &t §
v 20,000 10,000 Indirect Wages T 0+ 0.80 x Unit
\% 20,000 15,000 , :
Repairs % 3,000 + 0.70 x Unit
Section—-C 2x14=28
Depreciation % 1,000 + 0 x Units

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit You are required to prepare flexible budget for
your each answer maximum up to 500 words. 2000, 5000 and 7000 Units of Production. Also

Each question carries 14 marks. calculate per Unit Cost of each Level.
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13. Prepare a statement from the figures given below

showing application and sources of fund during

the year 2020. (Fund Flow Statement) :

= 3 T wEE 2020 99 & SHE HUS & YA
Td GIEF T U T faeR0 AR FHifS : (FY JaE

fererzon)
Assets Beginning End

of Year (3) | of Year (})

Fixed Assets 5,10,000 6,20,000
Investment 30,000 80,000
Current Assets 2,40,000 3,75,000
Discount on Debentures 5,000 —
7,85,000 10,75,000
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Capital and Liabilities
Share Capital
Debenture

G/R

P& L A/c
Depreciation Fund
Provision for Bad Debts

Current Liabilities

3,00,000 3,50,000
1,00,000 2,00,000
1,50,000 2,00,000
60,000 70,000
90,000 1,30,000
10,000 15,000
75,000 1,10,000
7,85,000 10,75,000

Dividend @ 15% for 2015 was paid during the year.

An assets (fixed) costing ¥ 40,000 (depriciation

provided X 17,000) was disposed off at a profit of

% 2,000.

T8 & IRE 2019 & fau 15% 1 T | onwiwr fe=n
T WE TRl gEi ¥ 40,000 @RTE ®T (FRIET T

79 ¥ 17,000), T 2,000 & w9 W T & A
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